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Symbol �r nici Krzyżyki Motki Motki Motki

2 nitki 3 nitki 6 nitek

 DMC 155 911 1 1 1

 DMC 158 53 1 1 1

 DMC 161 259 1 1 1

 DMC 210 988 1 1 1

 DMC 211 448 1 1 1

 DMC 349 22 1 1 1

 DMC 351 78 1 1 1

 DMC 400 65 1 1 1

 DMC 445 709 1 1 1

 DMC 470 102 1 1 1

 DMC 535 302 1 1 1

 DMC 722 216 1 1 1

 DMC 926 252 1 1 1

 DMC 927 56 1 1 1

 DMC 963 185 1 1 1

 DMC 995 133 1 1 1

 DMC 996 233 1 1 1

 DMC 3072 68 1 1 1

 DMC 3722 29 1 1 1

 DMC 3746 634 1 1 1

 DMC 3825 447 1 1 1

 DMC 3843 201 1 1 1

 DMC B5200 106 1 1 1

Kwiaty i filiżanka


